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Q. No. 2 Write short answers to any Six of the following 2x6 .é_d'..,v_eﬁ .-.C;I?I { :.é: 2 /..?Lj,,

[ Determine whether the given ratrix Is singular or non slngular'? T o6 st 2 L & ..,me: o I,'p p’ (i) |
[Z “"-l-
' Simplify and write your answer in the form of a + bi 2P Sarbiciz £ (i)
(-5 + 2i)(-2+3i)
Simplify i"— % L 2';7 = | (i)
| Find the number whose value of common logarithm is 1.7427 ¢ o =f d’fxﬂ(b U q{r}“ s i) (iv)
Find the value of x logss 8= g ' loge 8 = 5 = bt Jul W
Define polynomial. Rty ARl
! Ifx=2-~v3 , then find % _.?ﬁrﬁ“' = Ji Jx=2-v3 N {vii)
| Factorize 3.\.-4+112_}«"1 3x4+12y‘ éd)?’ (wiil}
..Llrfrt’ 4(1’4-2) S x0-3+ax-14 £ ﬂfrﬁ"‘ {jl.:..-u Jd&.l’—‘ (ix)
| Use Remainder theoremitolfind Féiainder when x'= 3x + 4x ~14 s divided by (#2)

Q. No. 3 Write short answers to any Six of the fnllnwmg 2 xb .2,"-2‘4.! @LIR;"L pil ] :.:.[31" 3 ;'Ulr"

Find the H.C.F 39x )z, 91xy” ' 39x7 'z, 91yt Tk )’nl. M |
| Define Radical Equation. -/ 8 anlatda | (i)
Solve 3x+1<5x-4 3x+1<5x-4 -2 (i)
If F= §c+32 , then find the value of F if C=30 %C=30 /i ZplF In F= §c+3z A (i)
Define ordered pair. Haf oy W
Ald,4), B(a,-2) 2 ol 33 Bew ¥ iz £ 48| (Vi)

Find the mid-paint between pairs of points A{4,4), B{4,-2)

(7,5),(1,-1) 2 (4 gl wdz L 46| (vii)
Find the distance between the pairs of points (7, 5),(1,-1} i
What ismeant by H.S =H.5 ? tedri e H.S=H.S | (viif)
. - S ot x In LB ..[l ABCD u" u"uﬁ (ix)
i the given figure uf ABCD isa parailelogram, then find x, m d EAC 1}
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0.4 Write shortanswers to any Six of the following 2x6 .é 4}’ =2 ;-ﬁ' 5,!214 - Jf 4 ,njdtr
sefine Bisector of an angle. -2 S S o ) (i)

.- ZE e S L udd et g5 om, dom, 3em| (i) |
Venfy 3cam,4cm,5cm are the length of triangles or not ? Given reason. [
ér:"‘_-ﬂg( Yy a e " g &db U LS LTPQR B8 {iii)

In Isosceles triangle PQR, find value of “x” and “y*
' P

10 cm

Q 6cmyy R :
State Pythagorus theorem. _g ..;;’ ..‘ait!! £ 0 (iv)

e add . (v)

| Find the value of “x

12 em

5 i)
e NP | (vil)

Define Rectangular Region.
Find the area of figure.

gcm
Construct a triangle ABC in which mAB=42cm,mBC=3.9cm, mCA=3.6cm & Lk ABC wts (wiii)
Define In-centre of tfiangle: | |11 1 |c B ﬁ-—i’}’ l.fff dulel f,,J f.&-ﬂ (ix)
- Part— Il (. o
8x3=24 e $HIA I FE S v E S kot S

NOTE : Atternpt THREE questluns from this part whereas Question No.9 is compulsory

x—-2y=3 , 2x- 3y=4 gd'r_-u(;p'ﬁ'-‘-':bﬂfdhpﬁ (A)-S.:/:;Ulr

Solve the Linear equation by inversion method x — 2y=3 , 2x— 3p=4

TR,
simplify ZOE 2 g m| (B)

(04)" /2

Uselogtablesto find the value of %—53& _gr,w,,gc_ug";w ,":l’j ' (A)-6: /:“(Jlr‘

e 2d Saptyzrex In oL =520 xtyiz=10 /i | (B)
| W xty+z=10 and ¥’ +y°+Z =352 , then find the value of xy +pzizx
Solve by factor theorem .’ +x%-10x+8 ol I0x+s S e $F ko (A)-7: AUl

44255 — 12 - 247416 _ZE pho & r-’ 24 | {B)
| Use division method tq ﬁrﬁ:{ths square rdotof 4425° — 12x - 24'\"+16x" ; I DK

Salve the equation E_SJ —x=1- —9— 5(16 .. _— *g -irl"'.sﬂf (A)-8: Air

q‘{qﬂJi—xﬁﬁLumt&rmﬁu{mﬁw Jt ABC s2x | (B)
mAB = 3.6 cm, mBC = 4.2 ¢cm and msB =75°
Construct A ABC. Draw the bisectors of their ang!es and verlfy their concurrency.
mAB =3.6em, mBC=4.2cm and mzB=75°

The bisector of the angles of a triangie are concurrent f 2« porg L;_w L gl uf L e u’f S M’U'r’
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